FERAB (EHAT) EE ATEMH

- B TR AR AR TR 26 TIRAUE > PREFSETTERE 0% 13,000, 000 B T80 -

Fok 1 S=HE | 106/09/14 B=ER | 15:56:40
EEN | BPE BEABE | AKEEWE HSANER | 06-2664126-134
FTE | nEAREEIE106ERERERREEHSHASE
HEE
E1R SHEBEH | 106/09/14
=

SREF |1 EE e FERE HIH:106/09/14

2. 3 TR 30,000, 0004 <

3. EheEEE G 100T -

4. S THAEER LT AR T B 300,000, 0007T

S E{TEM HIRFTEENETEE S TAEZ -

6

7

R R R BEIELL A S8 TARE 2 80% » 5124,000,0000% - HHIF R SRR IR FEAE H 2 B s 45
Pl FEREELBIRENE - ST R ig483 . 71325381k -
8. ABHPHE T =R LR EE 2 AT 28k Z | B E SR8 S TAR 2 10% » 513,000, 000K E41
A

0. W R R FAAR GRS (2 e 5 3

JR BRI & — R B RAT IR BT R B HEE L H A » E AN TR
BRI PR - HPPEAN & —R R R R ~ B T et 2
FOAERREEEPIAE By BHUIEE B RIARE NE BT EMERE -
10 ARZEETHIE REF 75 < B 381 T 2 iR B i AH ] -
11 AT EE SRR EE0SFEE S — RS R A AT E R T E
12 B E A AEH 1 10658105065 -
13. 5% H : 1065£10 01 H -
14 A= 1EFREIAH T 106810 H02H -
15 AP EuEH A 1064210 H06H -
16 . Bk s - TR A B R B TR SR AEARS - 1064F 10 A 12H £ 1065-10 5 18H -
17 AU S BB P R E R TIREE TSV H A - 1064F09 H 14H - -
18. ZRt AUk ins 8 L ERIT KRB 1T -
19 ZEtiFRETE N | 208 TR T 1T -

{0

‘ﬂﬂ%




20 A FERAEIH

(DA S EHTTE 30,000, 0008 » ERLHAH G 107TE - SR TER SRl
EEHZ 100509 H06 H 5B 565 755106003007 755 bR HH R AE R -

(D ARTEHEIEE Z TR ~ STER - WEEAE H AR S H L BRI E 1L
 MHEACE OB NIERBIREE T > S HMREREE - i EE R
.

(3) FLFFA AN EIREER T A AR = 2 B R - SEIR EREN1065E9 H30H AT (10 A 1 H Kk
HORREEEA S SR A QR el i A IR A SIS CEES (Bt IEEE
FrHES—ELoTRoIE) - PHEE S FE - HEEE UREI06F10H01H (5@~ H)

B H R -
NeMaEEf REETENRARA EIETETINEBSE » AN R RE AR

(LT B TIREE RS T4 -




